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Fundamental Economic Concepts

SSEF1 The student will explain why limited productive resources and unlimited wants result in scarcity, opportunity costs, and tradeoffs for individuals, businesses, and governments.

a. Define scarcity as a basic condition that exists when unlimited wants exceed limited productive resources.

How does the concept of scarcity relate to the Federal budget process?

A all government decisions are made based on marginal costs and benefits
B limited tax revenue must meet unlimited wants and needs
C governments must use exchange rates when dealing with foreign policy
D the government avoids scarcity by printing money
(correct answer B)

Which describes scarcity?

A A condition where supply exceeds demand.

B The situation that exists when there is temporarily a shortage of a good or service.

C Unlimited wants exceeding limited resources.

D An unlimited demand for goods and services.

(correct answer C)

Which economic situation is characterized by unlimited wants exceeding limited resources?

A shortage

B surplus

C specialization

D scarcity

(correct answer D)

SSEF1 The student will explain why limited productive resources and unlimited wants result in scarcity, opportunity costs, and tradeoffs for individuals, businesses, and governments.

b. Define and give examples of productive resources (factors of production) (land (natural), labor (human), capital (capital goods), entrepreneurship).

Shay owns and operates a hamburger company where she uses the following items on a regular basis:

	· wheat buns

· meat

· lettuce

· onions

· potatoes


Based SOLELY on this information, which statement is correct?

A The hamburger company relies heavily on natural resources.
B Shay is not an entrepreneur because she only uses one resource.
C Owning a hamburger company is very capital-intensive.
D Scarcity does not affect Shay because she has all the ingredients she needs.
(correct answer A)

In the production of chocolate chip cookies, which represents the factor of capital?

A the dough used to bake the cookies

B the oven used to bake the cookies

C the worker who decorates the cookies

D the retailer who sells the cookies

(correct answer B)

 Which is a human resource that Ms. Johnson could use for her art gallery?

A Light fixtures to help display the artwork

B A security system to protect the artwork

C Knowledge of trends in modern art

D A series of paintings by a prominent local artist

(correct answer C)

SSEF1 The student will explain why limited productive resources and unlimited wants result in scarcity, opportunity costs, and tradeoffs for individuals, businesses, and governments.

c. List a variety of strategies for allocating scarce resources.

Which describes a method for allocating scarce resources?

A A group of stores get together to decide on the price of a good.

B The Government of a country decides what to produce and for whom it will be produced.

C Businesses begin a new advertising campaign.

D The FED announces recent economic data concerning the business cycle.

(correct answer B)

Lotteries, markets, barter, rationing, and redistribution of income are all methods commonly used to

A allocate scarce resources.
B collect taxes.
C improve productivity.
D invest in education and technology.
(correct answer A)
SSEF1 The student will explain why limited productive resources and unlimited wants result in scarcity, opportunity costs, and tradeoffs for individuals, businesses, and governments.

d. Define opportunity cost as the next best alternative given up when individuals, businesses, and governments confront scarcity by making choices.

Opportunity costs is MOST RELATED which concept?

A price floors
B scarcity
C elasticity
D absolute advantage
(correct answer B)

Opportunity cost is best described as the

A sum of all production costs

B most expensive resource used in production

C value of the best alternative forgone when a choice is made

D monetary value of all alternatives forgone when a choice is made

(correct answer C)

If Jim chooses job A, he will recieve $50,000 a year, full benefits and 2 weeks of paid vacation.  If he chooses job B he will recieve $60,000 a year, full benefits and no paid vacation.  Assuming Jim chooses job B, which statement is correct.

A Jim has incurred no opportunity cost because the jobs were completely different.

B Jim's opportunity cost is only the $50,000 he could have gotten at the other job.

C Jim's opportunity cost is everything he gave up at job A.

D Jim's opportunity cost is everything he is gaining at job B.

(correct answer C)

SSEF2 The student will give examples of how rational decision making entails comparing the marginal benefits and the marginal costs of an action.

a. Illustrate by means of a production possibilities curve the tradeoffs between two options.

Use the graph below to answer question:
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Based on the PPF, which is true about countries A and B?

A Country A has fewer resources to make fish, but more resources to make coconuts

B Country B has fewer resources to make fish, but more resources to make coconuts

C Country A has more total resources.

D Country B has more total resources.

(correct answer C)

Use the following production possibilities curve to answer question number ____:
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Which statement is true about the graphic above?
A Moving from point X to point Y incurs an opportunity cost of guns.

B At point X, this country is producing more butter than guns.

C Moving from point X to point Y incurs and opportunity cost of butter.

D This country does not have to give up any guns to produce more butter.

(correct answer A)
Use the following graph for question #___:
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On the graph above, shifting production from 10 lbs of cheese to 20 lbs of cheese means an opportunity cost of

A 1 gallon of milk.

B 7 gallons of milk.

C 10 pounds of cheese.

D 20 pounds of cheese.

(correct answer A)

Use the following graph for question #___:
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If this country decides to produce 40 pounds of cheese, what is their opportunity cost?

A 20 pounds of cheese
B 6 gallons of milk

C 8 gallons of milk

D 40 pounds of cheese

(correct anser C)
SSEF2 The student will give examples of how rational decision making entails comparing the marginal benefits and the marginal costs of an action.

b. Explain that rational decisions occur when the marginal benefits of an action equal or exceed the marginal costs.

Use the following chart to answer question #:

	# of Workers
	Wage paid to additional worker

(marginal cost)
	Additional profit produced

(marginal benefit)

	1
	$500.00
	-$50.00

	2
	$500.00
	$200.00

	3
	$500.00
	$100.00

	4
	$500.00
	-$50.00


The chart above shows Matt’s cost structure for hiring additional workers per week .  According to this schedule, how many workers would be ideal for Matt to hire?

A 1
B 2
C 3
D 4
(correct answer C)

In economics, rational decisions occur when
A suppliers lower their prices to increase demand.

B marginal benefits of an action equal or exceed the marginal costs.

C a budget is used for spending and saving decisions.

D command economies answer the three basic economic questions.

(correct answer B)
Which should ALWAYS be considered when making rational decisions?

A marginal benefits and marginal costs
B the real dollar amounts of the items
C whether to use fiscal or monetary policy
D how many opportunity costs there are
(correct answer A)
SSEF3 The student will explain how specialization and voluntary exchange between buyers and sellers increase the satisfaction of both parties.

a. Give examples of how individuals and businesses specialize.

In college people can major in a wide variety of fields including medicine, journalism, business, and design among others.  This is an example of the concept of

A progressive taxation
B scarcity
C specialization
D elastic demand
(correct answer C)

Alex and Dylan both wash cars and change oil.  Currently, each man washes and changes oil by himself, but the process takes a long time.  They would MOST LIKELY improve their efficiency if

A Alex and Dylan wash a car and change the oil together.

B Alex washes cars while Dylan changes oil

C Alex washes Dylan’s car while Dylan washes Alex's car.

D Alex and Dylan reduce the number of cars they wash.

(correct answer B)

An assembly line can increase a factory's productivity because it allows workers to

A diversify their skills

B focus on a specific task

C put in overtime hours

D use a wide range of knowledge

(correct answer B)

What is the relationship between specialization and voluntary exchange?

A specialization leads to a need for voluntary exchange
B specialization exists because of voluntary exchanges
C voluntary exchange causes specialization
D voluntary exchange negates the need for specialization
(correct answer A)
SSEF3 The student will explain how specialization and voluntary exchange between buyers and sellers increase the satisfaction of both parties.

b. Explain that both parties gain as a result of voluntary, non-fraudulent exchange.

Susan offers to trade her old iPod for Claudia’s cell phone and Claudia accepts.  Assuming both products work perfectly, we can conclude that

A Claudia is now happier than Susan.

B neither party has gained because the exchange was fraudulent.

C both people have gained because the exchange was voluntary and non-fraudulent.

D Susan places the same value on cell phones as she does for iPods.
(correct answer C)

When two people engage in trade, both sides will benefit if the trade meets which two requirements?

A free and international
B rational and marginal

C non-voluntary and fraudulent

D voluntary and non-fraudulent

(correct answer D)
SSEF4 The student will compare and contrast different economic systems and explain how they answer the three basic economic questions of what to produce, how to produce, and for whom to produce.

a. Compare command, market, and mixed economic systems with regard to private ownership, profit motive, consumer sovereignty, competition, and government regulation.

Which of the following is NOT one of the three basic economic questions that must be answered in an economy?

A What to produce

B When to produce

C How to produce

D For Whom to produce

(correct answer B)

Competition and free enterprise are most common in which type of economic system?

A traditional

B market

C communist

D planned

(correct answer B)

Which type of economic system is MOST likely to experience high amounts of government regulation and low amounts or private ownership?

A market
B command
C traditional
D international
(correct answer B)
SSEF4 The student will compare and contrast different economic systems and explain how they answer the three basic economic questions of what to produce, how to produce, and for whom to produce.

b. Evaluate how well each type of system answers the three economic questions and meets the broad social and economic goals of freedom, security, equity, growth, efficiency, and stability.

Because command economies have a high degree of government interaction, they are better suited to meet which economic goals?

A freedom and growth
B efficiency and freedom
C growth and efficiency
D stability and equity
(correct answer D)

A headline reads: "High Tech Firms Begin Producing New Generation of Computers."  What basic economic question is being addressed in this headline?

A for whom to produce

B how to produce

C what to produce

D when to produce

(correct answer C)

In a typical market economy, producers are allowed to choose which products they wish to make and the amount of those products they will produce.  Consumers are allowed to choose which producer they will purchase from and how many they will buy.  This MOST DIRECTLY supports the broad economic goal of

A freedom

B equity

C security

D stability

(correct answer A)

Because they have greater government involvement, command economies tend to be better than market economies at meeting which economic goal?
A freedom

B incentives

C efficiency

D equity

(correct answer D)
SSEF5 The student will describe the roles of government in a market economy.

a. Explain why government provides public goods and services, redistributes income, protects property rights, and resolves market failures.
What are governments MOST LIKELY attempting to do when they increase unemployment benefits, implement more welfare programs, and rearrange tax brackets?

A protect property rights

B resolve market failures

C redistribute income

D invest in technology

(correct answer C)

When governments break up monopolies and try to address shortages or surpluses, they are serving the role of 

A protecting property rights.
B resolving market failures.
C redistributing income.
D providing public goods.
(correct answer B)

Copyrights, trademarks, and patents are all ways governments try to serve which role?

A redistributing income
B resolving market failures
C protecting property rights
D providing public goods and services
(correct answer C)
SSEF5 The student will describe the roles of government in a market economy.

b. Give examples of government regulation and deregulation and their effects on consumers and producers.

Government agencies inspect restaurants on a regular basis to insure the restaurants are obeying health and food safety regulations.  What economic effect does this have on the restaurants?

A They charge higher prices to cover the costs of the time and resources used in meeting the regulations.
B More food is produced because the regulations make the restaurant more productive and efficient.

C Restaurants make more profits because the government takes fewer taxes when they meet regulations.

D The price of food is typically lower because the regulations force restaurants to use cheaper ingredients.

(correct answer A)

Reducing laws and rules businesses have to follow is an example of
A regulation
B deregulation
C production possibilities
D comparative advantage
(correct answer B)
SSEF6 The student will explain how productivity, economic growth, and future standards of living are influenced by investment in factories, machinery, new technology, and the health, education, and training of people.

a. Define productivity as the relationship of inputs to outputs.

Economic growth is often tied to investment in machinery, new technology, and education of the population.  This is because
A these items lead to a greater productivity of inputs.

B the only way to measure economic growth is to observe changes in these factors.

C investment in these items are the sole determinant of output.

D all of these items improve capital resources.

(correct answer A)

Which BEST describes productivity?

A the interaction of buyers and sellers

B the relationship of inputs to outputs
C producing at high opportunity costs

D trading based on absolute advantage

(correct answer B)

SSEF6 The student will explain how productivity, economic growth, and future standards of living are influenced by investment in factories, machinery, new technology, and the health, education, and training of people.

b. Give illustrations of investment in equipment and technology and explain their relationship to economic growth.

Investing heavily in new capital equipment and technology is MOST related to 

A supply and demand.
B opportunity costs.
C economic growth.
D economic freedom.
(correct answer C)

Which headline would MOST LIKELY be found in a country that will experience future economic growth?

A “Country experiences population reduction.”
B “Government to offer new educational opportunities.”
C “Inflation rate hits new highs.”
D “Central bank to raise interest rates.”
(correct answer B)
SSEF6 The student will explain how productivity, economic growth, and future standards of living are influenced by investment in factories, machinery, new technology, and the health, education, and training of people.

c. Give examples of how investment in education can lead to a higher standard of living.

Use the following picture to answer question #:_____
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Which conclusion can be drawn from the graphic above?

A There is little difference in the lifetime incomes of college graduates and high school graduates.

B College graduates will likely have a higher standard of living compared to high school graduates.

C It is undesirable to graduate from college because you will be put in a higher tax bracket.

D There is no economic value in graduating from High School.

(correct answer B)
Microeconomic Concepts

SSEMI1 The student will describe how households, businesses, and governments are interdependent and interact through flows of goods, services, and money.

a. Illustrate by means of a circular flow diagram the Product market, the Resource (factor) market, the real flow of goods and services between and among businesses, households, and government, and the flow of money.

Which statement is true about the circular flow diagram?

A Households are demanders in the product market and suppliers in the factor market

B Business are demanders in the product market and suppliers in the factor market.

C Households are demanders in the factor market and suppliers in the product market.

D Businesses and households are not components of the circular flow diagram.

(correct answer A)

Use the following graphic to answer question #___:
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The SOLID arrows on this circular flow diagram represent the flow of
A goods and services.

B money.

C taxes.

D imports and exports.

(correct answer A)

Use the following graphic to answer question #___:
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The DASHED arrows on this circular flow diagram represent the flow of

A goods and services.

B money.

C taxes.

D imports and exports.

(correct answer B)

SSEMI1 The student will describe how households, businesses, and governments are interdependent and interact through flows of goods, services, and money.

b. Explain the role of money as a medium of exchange.

The primary of role of money in the economy is to
A help set interest rates at financial institutions.
B provide a mechanism to assist foreign trade.

C serve as a medium of exchange for goods and services.

D identify prices in various markets.

(correct answer C)

SSEMI2 The student will explain how the Law of Demand, the Law of Supply, prices, and profits work to determine production and distribution in a market economy.

a. Define the Law of Supply and the Law of Demand.

Which statement describes the law of demand?

A As prices rise, quantity demanded decreases.

B As prices rise, demand decreases.

C As prices fall, quantity demanded decreases.

D As prices fall, demand decreases.

(correct answer A)

Mila says “as price increases, demand decreases.”  Mila is

A correct; that is the law of demand.
B incorrect; she means demand increases.
C incorrect; she means quantity demanded decreases.
D correct; that is the law of supply.
(correct answer C)
Which explains why a supply line is upward sloping?

A the Law of Supply states there is a direct relationship between price and quantity
B the Law of Demand states there is an indirect relationship between price and quantity
C the Law of Supply compares marginal costs and marginal benefits in a constant rate
D the Law of Demand shows a positive relationship between two goods, creating the slope
(correct answer A)

SSEMI2 The student will explain how the Law of Demand, the Law of Supply, prices, and profits work to determine production and distribution in a market economy.

b. Describe the role of buyers and sellers in determining market clearing price.

When buyers and sellers interact in a market, what is the result?

A Over time, fewer and fewer goods are produced because buyers have all they want.

B Usually a market clearing price is determined.

C Equilibrium quantities are determined and then prices are set by the government.

D Since buyers and sellers are always changing their preferences, markets become unstable and unreliable.
(correct answer B)

Whenever a company develops a new product, an equilibrium price and quantity will eventually be determined by 

A how much money is available in the economy.

B the government in their role as price setter.

C the interaction of sellers and producers.

D the interaction of buyers and sellers.

(correct answer D)
SSEMI2 The student will explain how the Law of Demand, the Law of Supply, prices, and profits work to determine production and distribution in a market economy.

c. Illustrate on a graph how supply and demand determine equilibrium price and quantity.

Use the graph below to answer question #___:
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Which describes what has happened in the graph above?
A The increase in supply has caused an increase in equilibrium quantity.
B An increase in demand has caused a decrease in equilibrium price.
C Supply has decreased, causing an increase in equilibrium price.
D Demand has increased, causing an increase in equilibrium quantity.
(correct answer D)

Use the following graph for question #___:
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The graph above shows how a change in equilibrium price and quantity can result from

A a decrease in demand.
B an increase in price.
C an increase in supply.
D a decrease in supply.
(correct answer D)
SSEMI2 The student will explain how the Law of Demand, the Law of Supply, prices, and profits work to determine production and distribution in a market economy.

d. Explain how prices serve as incentives in a market economy.

If, in a market, a particular store notices a lot of merchandise piling up on the shelves and in the stock room, how could they encourage existing buyers to buy the goods?

A Begin producing different products.

B Lower prices as an incentive to purchase more.

C Produce less to promote scarcity.

D Raise prices to make the goods appear higher in quality.
(correct answer B)
SSEMI3 The student will explain how markets, prices, and competition influence economic behavior.

a. Identify and illustrate on a graph the factors that cause changes in market supply and demand.

Use the following graph to answer question #___:
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The change seen in the graph would have been caused by

A a decrease in technology.

B an increase in the number of consumers.

C a decrease in the price of resources.

D an increase in business taxes and regulation.

(correct answer C)

Use the following graph to answer question#___:
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Which headline supports what has happened in the graph?

A “Producers reducing supply of orange juice”

B “Study shows orange juice causes disease”
C “Number of orange juice drinkers increases greatly”

D “Government imposes heavy tax on orange juice”

(correct answer B)

If the price of an item increases, demand for its substitutes

A is unaffected

B decreases

C increases

D there is no way to tell

(correct answer C)

When the income in households increases, what is the likely result?

A The supply curve will shift to the left.

B The supply curve becomes vertical.

C The demand curve shifts to the right

D The demand curve shifts to the left.

(correct answer C)

SSEMI3 The student will explain how markets, prices, and competition influence economic behavior.

b. Explain and illustrate on a graph how price floors create surpluses and price ceilings create shortages.

Use the following graph to answer question #:____
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In the graph above, a forced price of ₤.40 represents which situation?

A A surplus because the price is below equilibrium.

B A surplus because the price is above equilibrium.

C A shortage because the price is below equilibrium.

D A shortage because the price is above equilibrium

(correct answer B)

SSEMI3 The student will explain how markets, prices, and competition influence economic behavior.

c. Define price elasticity of demand and supply.

Demand for gasoline is said to be fairly inelastic for many people.  This is probably because

A it has many substitutes and is easily attained.

B it is difficult to make cheaply.

C it has few substitutes and is in large supply.

D it has few substitutes and is necessary for most transportation.

(correct answer D)

Elasticity of supply and demand is MOSTLY related to

A opportunity costs

B appreciation and depreciation of currencies

C changes in prices and quantities of goods

D effects of monetary and fiscal policies

(correct answer C)
SSEMI4 The student will explain the organization and role of business and analyze the four types of market structures in the U.S. economy.

a. Compare and contrast three forms of business organization—sole proprietorship, partnership, and corporation.

A key advantage of a partnership is

A limited liability of the partners

B unlimited liability of the partners

C specialization of the partners

D ease of raising capital through stockholders

(correct answer C)

Jane and Jill run a photography business as a partnership.  They are trying to decide if they wish to form a corporation.  If they decide to incorporate, what will be a new disadvantage they will face?

A double taxation

B unlimited liability

C sharing of profits

D ease of startup

(correct answer A)
SSEMI4 The student will explain the organization and role of business and analyze the four types of market structures in the U.S. economy.

b. Explain the role of profit as an incentive for entrepreneurs.

Which provides the greatest incentive for entrepreneurs to take risks?

A profits

B inflation

C prices

D interest

(correct answer A)
SSEMI4 The student will explain the organization and role of business and analyze the four types of market structures in the U.S. economy.

c. Identify the basic characteristics of monopoly, oligopoly, monopolistic competition, and pure competition.

Assume Company 1 and Company 2 operate as an oligopoly.  Which statement BEST represents this?

A They own many different "brands"

B They are major corporations with stockholders

C They control over 75% of the market

D They have products that are different, but are marketed the same way

(correct answer C)

Company X sells a good where there is a lot of competition.  Companies enter and leave the market often.  Company X stays in business because they constantly use advertising to make their product seem different.  In which market structure does Company X operate?

A Pure Competition

B Monopolistic Competition

C Oligopoly

D Monopoly

(correct answer B)

A market structure in which there is only one seller is known as a 

A Pure Competition

B Monopolistic Competition

C Oligopoly

D Monopoly

(correct answer D)
Macroeconomic Concepts

SSEMA1 The student will illustrate the means by which economic activity is measured.

a. Explain that overall levels of income, employment, and prices are determined by the spending and production decisions of households, businesses, government, and net exports.

Gross Domestic Product is a method for calculating how much a country produces by adding which four spending categories?

A Consumption, Investment, Government, Net Exports

B Consumption, Investment, Government, Business expenditures

C Consumption, Interest Rates, Goverment, Net Exports

D Wages, Rent, Interest, Dividends

(correct answer A)

SSEMA1 The student will illustrate the means by which economic activity is measured.

b. Define Gross Domestic Product (GDP), economic growth, unemployment, Consumer Price Index (CPI), inflation, stagflation, and aggregate supply and aggregate demand.

When there is inflation in an economy which is ALWAYS true?

A the purchasing power of the dollar increases.

B the consumer price index has increased.

C unemployment will automatically decrease.

D exports to other countries increases.

(correct answer B)

A market basket is generally used to

A advertise new products for companies.

B put things in while you walk around the store.

C determine the total amount of real gross domestic product.

D compare prices of goods between years to calculate the consumer price index.

(correct answer D)

Why is stagflation problematic to correct?
A The economy is facing declining inflation and businesses do not like to increase prices.

B Solutions that address inflation tend to make existing unemployment worse and vice versa.

C There are no real corrections for sluggish economies.

D It is hard to correct because it cannot be appropriately diagnosed.

(correct answer B)

Finding the amount of Real Gross Domestic Product produced at all possible price levels will determine

A aggregate demand

B inflation

C aggregate supply

D growth

(correct answer C)

SSEMA1 The student will illustrate the means by which economic activity is measured.

c. Explain how economic growth, inflation, and unemployment are calculated.

Comparing real GDP between two consecutive years is MOST useful in determining which economic measurement?
A economic growth

B equity

C exchange rates

D equilibrium price
(correct answer A)
To calculate the unemployment rate an economist would need the total number of unemployed people and which other number?

A the inflation rate
B the number of people in the labor force
C the total number of discouraged workers
D the total number of transactions in the resource market
(correct answer B)

An economist is presented with information about the prices of a selection of goods over several years.  This information would be MOST useful for which purpose?

A For calculating unemployment
B Calculating Gross Domestic Product
C To compile a price index to measure inflation
D Deciding whether or not to buy bonds on the open market
(correct answer C)

SSEMA1 The student will illustrate the means by which economic activity is measured.

d. Identify structural, cyclical, and frictional unemployment.

In October, Bill is laid off from his job as a Halloween costume maker solely because of a slow Halloween season.  Which statement is true?

A Bill is naturally unemployed.

B Bill is cyclically unemployed.

C Bill is frictionally unemployed.

D Bill is structurally unemployed.

(correct answer B)

The town of Smithville recently closed the blacksmith factory and now all of the blacksmiths are out of work.  This type of unemployment is known as

A structural.
B frictional.
C cyclical.
D nominal.
(correct answer A)

Which person below would be considered frictionally unemployed?

A Jill, who quit her job to become a full time student.
B Jake, who has recently entered the labor force.
C Jennifer, whose skills are no longer needed.
D Jimmy, whose parents shut down the family farm.
(correct answer B)
SSEMA1 The student will illustrate the means by which economic activity is measured.

e. Define the stages of the business cycle; include peak, contraction, trough, recovery, expansion as well as recession and depression.

Which BEST describes an economy that is in a trough of the business cycle?

A unemployment is high, real GDP is high, and inflation is low

B unemployment is low, real GDP is high, and inflation is high

C unemployment is low, real GDP is high, and inflation is low

D unemployment is high, real GDP is low, and inflation is low

(correct answer D)

If an economy is currently experiencing a contraction or recession, which stage of the business cycle will they experience next?
A peak
B trough
C expansion
D cyclical
(correct answer B)
SSEMA1 The student will illustrate the means by which economic activity is measured.

f. Describe the difference between the national debt and government deficits.

A budget surplus means that

A the Government has spent more money than it took in.

B the Government has taken in more money than it spent.

C the Government has spent more money than the Fed.

D the Fed has spent more money than the government.

(correct answer B)

National debt is different than government deficits in that

A the debt only includes money owed for the current fiscal year.
B deficits include all debts owed over time with interest.
C deficits only apply to monetary decisions made by Congress.
D national debt is the sum of all past deficits plus interest.
(correct answer D)
SSEMA2 The student will explain the role and functions of the Federal Reserve System.

a. Describe the organization of the Federal Reserve System.

Which component of the Federal Reserve System holds the most power in regards to day to day monetary policy?

A The Board of governors

B Congress and the President

C The 12 District banks

D The Federal Open Market Committee

(correct answer D)

SSEMA2 The student will explain the role and functions of the Federal Reserve System.

b. Define monetary policy.

Monetary policy is defined as the

A taxing and spending decisions of the United States Government.

B buying and selling of currency in foreign exchange markets.

C interaction of buyers and sellers in the market place.

D decisions of the Federal Reserve System that determine the money supply.

(correct answer D)

The actions of the FED that control and regulate the amount of money in the economy are referred to as

A fiscal policy.
B monetary policy.
C international trade.
D opportunity costs.
(correct answer B)
SSEMA2 The student will explain the role and functions of the Federal Reserve System.

c. Describe how the Federal Reserve uses the tools of monetary policy to promote price stability, full employment, and economic growth.

If the economy was in a recession and Congress and the Federal Reserve Bank BOTH wanted to correct it quickly, which policy combination would be best?

A raise taxes, buy treasury bonds

B cut taxes, sell treasury bonds

C increase government spending, sell treasury bonds

D cut taxes, buy treasury bonds

(correct answer D)

Which is the Fed MOST likely to do in the event of a recession?

A Buy treasury bonds on the open market.

B Sell treasury bonds on the open market.

C Raise the discount rate.

D Raise the reserve requirement.

(correct answer A)

When the Fed is conducting open market operations, they are buying or selling
A stocks on the New York Stock Exchange.

B goods in the product market.

C factors in the factor market.

D government bonds.

(correct answer D)

When the money supply is increased, which is MOST likely to happen?

A The price level will decrease.

B The price level will increase.

C The price level will not be affected.

D Each dollar will be able to buy more goods.

(correct answer B)

SSEMA3 The student will explain how the government uses fiscal policy to promote price stability, full employment, and economic growth.

a. Define fiscal policy.

You hear another student say: “Fiscal policy is easy to understand, all you have to know is what is happening with current tax rates!”  This student is

A correct, that is the definition of fiscal policy.

B incorrect, he is describing monetary policy.

C partially correct; he needs to include government spending decisions as well.

D partially correct; he needs to include open market operations as well.
(correct answer C)

Which is NOT a goal promoted by the government through fiscal policy?

A price stability
B economic growth
C full employment
D money supply
(correct answer D)
SSEMA3 The student will explain how the government uses fiscal policy to promote price stability, full employment, and economic growth.

b. Explain the government’s taxing and spending decisions.

If the economy was in a recession and Congress and the Federal Reserve Bank BOTH wanted to correct it quickly, which policy combination would be best?

A raise taxes, buy treasury bonds

B cut taxes, sell treasury bonds

C increase government spending, sell treasury bonds

D cut taxes, buy treasury bonds

(correct answer D)

A government decision to increase taxes is MOST related to which combination of events?

        Consumption
     Aggregate Demand
  GDP
A      decrease

decrease

decrease
B      decrease

increase

decrease
C      increase

increase

increase
D      decrease

decrease

increase
(correct answer A)
International Economics

SSEIN1 The student will explain why individuals, businesses, and governments trade goods and services.

a. Define and distinguish between absolute advantage and comparative advantage.

The following table shows how many cars or computers can be produced by Japan and the United States in a month (in millions).  Use this table to answer question #____:
	
	JAPAN
	U.S.A.

	Cars
	25
	60

	Computers
	100
	45


Which statement is true concerning absolute advantage?

A Japan has absolute advantage in the production of cars.

B Japan has absolute advantage in the production of computers.

C Japan has absolute advantage in the production of both goods.

D Japan has no absolute advantage in this scenario.

(correct answer B)
Having a comparative advantage in a good means that a country can produce the good

A better than every other country in the world.

B cheaper than most countries.

C comparatively faster than any other country.

D at a lower opportunity cost compared to another country.
(correct answer D)
SSEIN1 The student will explain why individuals, businesses, and governments trade goods and services.

b. Explain that most trade takes place because of comparative advantage in the production of a good or service.

Turkey trades textiles, food products, and building materials to Germany in exchange for German machinery, technology, and cars.  This trade is possible because

A both countries share comparative advantage in the same goods.

B neither country has an absolute advantage in any good.

C each country has comparative advantage in different goods.

D the countries are forced to trade with each other.
(correct answer C)
International trade MOST OFTEN takes place because of differences in

A absolute advantage

B trade barriers

C comparative advantage
D  exchange rates

(correct answer C)
SSEIN1 The student will explain why individuals, businesses, and governments trade goods and services.

c. Explain the difference between balance of trade and balance of payments.

Assume the United States buys $5million worth of video games from Japan.  How are the balance of trade and balance of payments affected?

A The balance of trade and balance of payments will both decrease by $5million.

B The balance of payments will decrease while the balance of trade will increase.

C The balance of trade will decrease while the balance of payments will increase.

D Neither the balance of trade or the balance of payments will be affected.

(correct answer A)

The balance of payments is an account that measures all foreign financial activity involving the United States.  The balance of trade, however

A only measures foreign currency transactions.
B compares exchange rates over time.

C measures the gross domestic product of a country.

D only calculates the number of exports minus imports.
(correct answer D)

SSEIN2 The student will explain why countries sometimes erect trade barriers and sometimes advocate free trade.

a. Define trade barriers as tariffs, quotas, embargoes, standards, and subsidies.

Why is an embargo used in situations where countries have severe political differences?

A The taxes collected on imports can be used for military tactics.

B An embargo is a way for countries that initially oppose each other to resolve their differences.

C A country can set unfair standards for the opposing country.

D Embargoes typically ban all trade between two countries.

(correct answer D)
What trade barrier is beneficial to both domestic producers AND domestic consumers of a good?

A tariff

B subsidy

C quota

D embargo

(correct answer B)

A business arguing for a trade barrier that would increase business revenue is MOST likely to lobby for which trade barrier?

A tariff
B quota
C standards
D monopoly
(correct answer B)
SSEIN2 The student will explain why countries sometimes erect trade barriers and sometimes advocate free trade.

b. Identify costs and benefits of trade barriers over time.

If a country wished to impose a trade barrier that would hurt foreign producers AND help their domestic producers and consumers, which trade barrier work best?
A Embargo

B Standards

C Subsidies

D Quotas

(correct answer C)
SSEIN2 The student will explain why countries sometimes erect trade barriers and sometimes advocate free trade.

c. List specific examples of trade barriers.

Which headline below is an example of using standards as a trade barrier?

A “Only professionally cleaned Oranges allowed in US”

B “Limit of 1 million tons of sugar to be imported”
C “Mexican imports completely abolished”

D “US producers of wheat get big payday from Congress.”

(correct answer A)
SSEIN2 The student will explain why countries sometimes erect trade barriers and sometimes advocate free trade.

d. List specific examples of trading blocks, such as the EU, NAFTA, and ASEAN.

What do NAFTA, EU, and ASEAN have in common?

A They are all interested in promoting free trade.

B The United States is a member of all three.

C Each group attempts to enforce trade barriers rigidly.

D All three groups use the same currency.

(correct answer A)
SSEIN2 The student will explain why countries sometimes erect trade barriers and sometimes advocate free trade.

e. Evaluate arguments for and against free trade.

Someone who strongly opposes a trade barrier like quotas or tariffs would MOST LIKELY argue that the barrier

A would completely eliminate imported goods.

B might cause more unemployment in domestic industries.

C will lead to higher prices and fewer imported goods.

D would lead to lower government involvement in the economy.

(correct answer C)
SSEIN3 The student will explain how changes in exchange rates can have an impact on the purchasing power of individuals in the United States and in other countries.

a. Define exchange rate as the price of one nation’s currency in terms of another nation’s currency.

Which BEST describes exchange rates?

A The price of one nation’s currency in terms of another.

B An interest rate charged to consumers who take out a loan.

C The difference between the total number of exports minus the number of imports.

D An increase in the price of a market basket over a given time period.

(correct answer A)
SSEIN3 The student will explain how changes in exchange rates can have an impact on the purchasing power of individuals in the United States and in other countries.

b. Locate information on exchange rates.
(see SSEIN3c below)

SSEIN3 The student will explain how changes in exchange rates can have an impact on the purchasing power of individuals in the United States and in other countries.

c. Interpret exchange rate tables.

Use the following exchange rate table to answer question #___:

	
	1 YEN
	1 US Dollar
	1 EURO

	YEN
	1
	96.86
	125

	US Dollar
	.03
	1
	1.22

	Euro
	.0024
	.78
	1


Based on the table above, which currency is the strongest?

A YEN

B US Dollar

C EURO

D Can’t determine from the information provided

(correct answer C)

SSEIN3 The student will explain how changes in exchange rates can have an impact on the purchasing power of individuals in the United States and in other countries.

d. Explain why, when exchange rates change that some groups benefit and others lose.

What is MOST LIKELY to happen US imports and exports if the US dollar becomes stronger relative to other currencies?

A imports will increase, exports will decrease

B imports will decrease, exports will increase

C both imports and exports will increase

D both imports and exports will decrease

(correct answer A)

Which group benefits when the US dollar depreciates against other currencies?

A US citizens traveling in foreign countries

B Foreign governments with US Treasury Bonds

C Foreign citizens vacationing in the US

D US citizens buying foreign goods and services
(correct answer C)

Personal Finance Economics

SSEPF1 The student will apply rational decision making to personal spending and saving choices.

a. Explain that people respond to positive and negative incentives in predictable ways.

People typically respond to incentives

A with irrational decisions.

B in predictable ways.

C randomly.

D by removing opportunity costs.

(correct answer B)
SSEPF1 The student will apply rational decision making to personal spending and saving choices.

b. Use a rational decision making model to select one option over another.

Marie is considering whether or not to buy a car.  If she is using rational decision making, she should primarily consider

A if the car will lose value over time.

B whether her decision will carry any opportunity costs.

C only the price of the car.

D the marginal costs and marginal benefits of her decision.

(correct answer D) 
SSEPF1 The student will apply rational decision making to personal spending and saving choices.

c. Create a savings or financial investment plan for a future goal.

Jen wishes to take a vacation in a few months that costs more than her monthly paycheck will allow.  What would be the safest way to get the money for the trip?

A start immediately putting a portion of the money in an interest earning savings account

B invest a large amount of money in young companies on the stock market

C take more money out of her check and have it directly deposited into a 401K retirement plan

D charge the trip on her credit card and then pay it pack over the next several years

(correct answer A)
SSEPF2 The student will explain that banks and other financial institutions are businesses that channel funds from savers to investors.

a. Compare services offered by different financial institutions.

Which type of financial institution is MOST likely to require a membership and offer lower rates and special perks to their members?
A large national banks

B credit unions

C savings and loan banks

D bank holding companies

(correct answer B)
SSEPF2 The student will explain that banks and other financial institutions are businesses that channel funds from savers to investors.

b. Explain reasons for the spread between interest charged and interest earned.

Smithville Community Bank pays depositors 2.5% interest for money put into savings accounts.  When they make loans the bank charges 4% interest.  Why is there a difference in these two rates?

A The bank is not as concerned with attracting depositors as it is with making loans.

B It is a source of profit for the banks to have a higher interest charged than interest earned.

C People taking out loans demand higher interest rates than those making deposits.

D The 2.5% rate is the minimum a bank is allowed to pay for deposits.
(correct answer B)
SSEPF2 The student will explain that banks and other financial institutions are businesses that channel funds from savers to investors.

c. Give examples of the direct relationship between risk and return.

Typically, as risk of losing money on an investment increases,

A the chance of getting a greater return increases.
B the chance of getting a greater return decreases.

C people put more money in that investment.

D there is less incentive to put money in the investment.
(correct answer A)
SSEPF2 The student will explain that banks and other financial institutions are businesses that channel funds from savers to investors.

d. Evaluate a variety of savings and investment options; include stocks, bonds, and mutual funds.

A person that wishes to invest and is looking for the LEAST risk possible should choose which option?

A stocks

B bonds

C mutual funds

D progressive taxes

(correct answer B)
SSEPF3 The student will explain how changes in monetary and fiscal policy can have an impact on an individual’s spending and saving choices.

a. Give examples of who benefits and who loses from inflation.

When there is rapid inflation in a country, people living on fixed incomes

A benefit because their paycheck buy more goods and services.

B are hurt because their paycheck will buy fewer goods and services.

C are not affected because their income is always the same.

D must get second jobs to make ends meet.

(correct answer B)
In terms of inflation, people repaying a loan with fixed interest

A benefit because they can repay the loan with money that is worth less.
B are unaffected because the terms of the loan have not changed.
C lose because the loan must still be re-paid with inflated money.
D often adjust the payments to match the inflation rate.
(correct answer A)

SSEPF3 The student will explain how changes in monetary and fiscal policy can have an impact on an individual’s spending and saving choices.

b. Define progressive, regressive, and proportional taxes.

In country A, everyone pays a 10% income tax.  This type of tax system is known as

A regressive

B progressive

C proportional

D sales

(correct answer C)

Use the following information to answer question #___:
	Income
	Tax Owed

	$0 - $15,000
	10.5%

	$15,001 - $50,000
	8%

	$50,000 and above
	6.5%


The information on the chart above is consistent with which type of tax system?

A progressive
B regressive
C proportional
D sales
(correct answer B)
SSEPF3 The student will explain how changes in monetary and fiscal policy can have an impact on an individual’s spending and saving choices.

c. Explain how an increase in sales tax affects different income groups.

An increase in sales tax has a larger negative effect on

A low income groups that buy only essential items each month.

B higher income groups that have larger discretionary spending.

C people with incomes that change according to prices.

D workers getting paid in foreign wages.
(correct answer A)
SSEPF4 The student will evaluate the costs and benefits of using credit.

a. List factors that affect credit worthiness.

Which factor is LEAST likely to affect whether or not someone gets credit?

A payment history

B current credit score

C ownership of a car

D regular income source

(correct answer C)

Use the following information to answer question #___:
	Jill’s Credit Report

· Has 3 credit cards

· Carries a large balance from month to month

· Makes monthly payments on time

· Current salary is $100,000 a year
· Rents her house

· Owes $500 on her car


Jill discovers her recent credit application was rejected.  Based on her credit report above, the MOST LIKELY reason for this would be the fact that she
A owes money on her car.
B only makes $100,000 a year.
C rents instead of owns her current house.
D carries a large balance on her credit cards instead of pay them off.
(correct answer D)
SSEPF4 The student will evaluate the costs and benefits of using credit.

b. Compare interest rates on loans and credit cards from different institutions.

Use the following chart for question #___:

                       RATES FOR CREDIT CARDS

	
	BANK A
	BANK B
	BANK C
	BANK D

	APR
	7.5%
	19%
	22%
	0%

	Annual Fee
	$40
	$0
	$20
	$100


All other things equal, which bank should a person get their credit card from if they plan to pay off their balance at the end of every month?

A A

B B

C C

D D

(correct answer B)
SSEPF4 The student will evaluate the costs and benefits of using credit.

c. Explain the difference between simple and compound interest rates.

Bill is choosing between two different savings accounts.  One has simple interest and the other has compound interest.  If Bill is planning on saving money for a long period of time and he wants the most return on his savings he should choose the account with
A simple interest because it is easier to calculate.

B simple interest because that account will pay interest on the total amount in the account at all times.

C compound interest because it will pay an increasing amount of interest based on the amount of the original deposit.

D compound interest because it will pay interest on the original deposit plus interest earned over time.

(correct answer D)

Why would a person choosing to take a line of credit want to choose one that charges simple interest?
A simple interest would pay them the most on their investment
B simple interest would only charge interest on the original principal
C compound interest is illegal in most states
D compound interest would charge interest on the principal and prior interest
(correct answer B)
SSEPF5 The student will describe how insurance and other risk-management strategies protect against financial loss.

a. List various types of insurance, such as automobile, health, life, disability, and property.

Which type of insurance does a person need if they wish to continue to receive a paycheck while they are out of work due to an injury?

A automobile

B life

C disability

D property

(correct answer C)
Why would an employee purchase disability insurance?

A They want a lower co-pay for doctor visits.
B Because all employers are required to issue disability insurance.
C It is the only kind of insurance you can get through your employer.
D To still receive a portion of their paycheck when they are out of work.
(correct answer D)
SSEPF5 The student will describe how insurance and other risk-management strategies protect against financial loss.

b. Explain the costs and benefits associated with different types of insurance; include deductibles, premiums, shared liability, and asset protection.

Why is there a tradeoff between a lower deductible and higher premium?

A Paying a lower deductible means you can afford higher premiums.

B A lower deductible means the insurance company must pay more in an accident so they make you pay for that risk.
C The insurance company wants you to pay a lower deductible so they offer you a higher premium as an incentive.
D It works just like the law of demand, the higher the price, the lower the quantity demanded.

(correct answer B)
Use the following information to answer question #___:

	
	Company 1
	Company 2
	Company 3

	Total Coverage
	$100,000
	$125,000
	$100,000

	Monthly Premium
	$100
	$150
	$120

	Deductible
	$5,000
	$2,000
	$1,000


If Shayla has a large amount of disposable income monthly, but very little put away in savings, which insurance company would be best for her to select?

A Company 1
B Company 2
C Company 3
D They are equal.
(correct answer B)
SSEPF6 The student will describe how the earnings of workers are determined in the marketplace.

a. Identify skills that are required to be successful in the workplace.

Which skill is MOST useful no matter what type of job a person gets?

A running fast

B neat handwriting

C math expertise

D critical thinking

(correct answer D)

SSEPF6 The student will describe how the earnings of workers are determined in the marketplace.

b. Explain the significance of investment in education, training, and skill development.
A good example of the effect of education on income would be that

A employees who learn to perform high risk jobs always get paid more.

B workers who learn to make high demand products are well paid.

C only job applicants with high school diplomas get job interviews

D people with college degrees usually earn more than those with less education.

(correct answer D)
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